275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

SUN VISOR
Freightliner Coronado Raised Roof

INSTALLATION INSTRUCTIONS:

1. Remove OEM sun visor and OEM center sun visor bracket & unplug sun visor harness. Retain all hardware, as it will be

used later on for sun visor installation.

2. Using superglue or any other applicable adhesive attach (2) supplied rubber spacers (00812528) to both of the legs of
center bracket assembly (PNL30731109BC).

Attach center bracket assembly to roof cap using hardware removed from OEM visor, do not tighten at this time.

4, Peel film off visor inboard flanges (PNL30731109D/P); attach and tighten visor halves together using (4) % -20 x ¥ hex
bolts, (8) ¥4 x 5/8 washers and (4) ¥ - 20 nylock nuts.

5. Place joined visor halves onto center bracket, align visor mounting holes with center bracket mounting holes, attach to
center bracket using (6) ¥4 - 20 x % polished Phillips machine bolts, % x 5/8 washers, % - 20 nylock nuts.

6. Align visor outboard mounting holes with existing mounting points on side visor extension, re-use OEM hardware to
attach visor to side visor extension. Peel film away from all mounting holes. Do not tighten all hardware yet.

7. Tighten all hardware, starting at center bracket and moving outboard. Tighten center bracket to the roof cap last.

8. Peel both sides of the visor. Assemble all lites onto the visor (using 8-32 bolts, washers and nylock nuts). Do not insert
hardware into the outboard lite outboard mounting hole. Peel both sides of wire harness covers (PNL30731109C); place
edge trim along the long edges of the wire harness covers.

9. Connect harness to lites, clip off OEM harness leaving approximately 18" lead, connect to supplied harness using (2) quick
splice blue connectors.

10.  Place harness into harness covers (PNL30731109C); attach visor harness covers to the center bracket using (2) per side #10
- 32 x 2 polished Phillips machine bolts, attach outboard mounting tab to the visor using lite mounting hardware going

through outboard lite outboard mounting hole.

Page 1 0f 6 00812838 08/2005



275 Industrial Road,
Cambridge, Ontario N3H 4R7

M ®
ame L Q Tel. 519-884-8555
, Toll Free 800-331-7952
Fax 519-650-3334
panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

Visor inboard flanges

SRS Visor Outboard
mounting holes

PNL30731109P

. s O . . .I ;I .';I
; .':J h.."
I o f e IJ o f
fis f I J
=, { iy | =

/ e V= =

10 ,7/ {AS

-

/ o

Outboard lite
Outboard mounting hole

PNL30731109C PNL30731109C

Outboard mounting tab

Raised Roof Center
Bracket Assembly 00812528 —rubber spacers

T
b
|I
L
|
|
|—|I
]
|
|
Inim

00812528 - rubber spacers

Page 2 of 6 00812838 08/2005



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

PARE-SOLEIL
Freightliner Coronado Toit Surélevé

INSTRUCTIONS D'INSTALLATION:
1. Retirez le pare-soleil OEM et le support central OEM et déconnectez le faisceau de cables du pare-soleil. Conservez toute
la quincaillerie, elle sera utilisée pour installer le nouveau pare-soleil.

2. Avec une super-colle ou un autre adhésif, fixez 2 cales d’espacement en caoutchouc (00812528) aux deux pattes de
['assemblage du support central (PNL30731109BC).

3. Fixez ['assemblage du support central sur le toit avec la quincaillerie retirée du pare-brise d’origine, sans serrer pour
l'instant.
4, Décollez a pellicule plastique des bride intérieures du pare-soleil (PNL30731109D/P); fixez et serrez les deux moitiés de

pare-soleil ensemble avec 4 boulons hex ¥4 -20 x %, (8) rondelles % x 5/8 et 4 écrous nylock ¥ - 20

5. Placez les deux moitiés jointes du pare-soleil sur le support central, alignez les trous de fixation avec les trous du support

central, fixez le support central avec 6 boulons Philips polis % - 20 x %, les rondelles ¥4 x 5/8 et les écrous nylock Y - 20.

6. Alignez les trous des extrémités du pare-soleil avec les trous de fixation existant sur les extensions du pare soleil,
réutilisez la quincaillerie OEM pour fixer le pare-soleil aux extensions latérales. Retirez la pellicule plastique autour des

trous de fixation. Ne pas serrer la quincaillerie complétement a ce point.

7. Serrez toute la quincaillerie, en commencant par le support central et en continuant vers 'extérieur. Serrez les boulons

du support central sur le toit du camion en dernier.

8. Retirez a pellicule des deux cotés du pare-soleil. Assemblez toutes les lumiéres sur le pare-soleil (avec les boulons,
rondelles et écrous nylock 8-32). Ne pas insérer la quincaillerie dans le trou de fixation extérieur de la lumiére extérieure.
Décollez les deux cotés des couvre-cables (PNL30731109C); placez la moulure de la bordure le long des bordures des

couvre-cables.

9. Connectez les faisceaux de cables aux lumiéres, coupez le faisceau OEM pour laisser environ 18" de longueur libre,
connectez le faisceau d’alimentation avec deux (2) connecteurs d'épissure rapide bleus.

10.  Placez le faisceau dans les couvre-cables (PNL30731109C); fixez le couvre-cable du pare-soleil au support central avec deux
(2) boulons Phillips polis #10-32 x /2 de chaque c6té, fixez la bride de fixation extérieure au pare soleil avec la

quincaillerie de fixation de lumiéres, en passant par les trous de fixation extérieurs des lumiéres extérieures.

Page 3 of 6 00812838 08/2005



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

Brides intérieures
du pare-soleil

Trous de fixation
PNL30731109D extérieurs du pare-

PNL30731109P

Trous de fixation extérieur
de lumiére extérieure

PNL30731109C PNL30731109C

Brides de fixation
extérieure

Assemblage du support

central du toit surélevé 00812528 - Cales de
N caoutchouc

1T
b

00812528 — Cales de caoutchouc

Page 4 of 6 00812838 08/2005



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

VISERA
Freightliner Coronado Techo Elevado

INSTRUCCIONES DE INSTALACION

10.

Quite la visera OEM y el soporte de visera central OEM y desconecte los arneses de viseras. Guarde todos los accesorios,

ya que se utilizaran para la instalacion de la visera.

Usando Superglue o cualquier otro adhesivo, pegue (2) espaciadores de hule provistos (00812528) a ambas patas del
ensamble de soporte central (PNL30731109BC).

Coloque el ensamble de soporte central en el techo usando los accesorios removidos de la visera OEM, no apriete en este
momento.

Quite el film de las bridas de la visera (PNL30731109D/P); coloque y apriete las mitades de visera entre si usando (4)
tornillos hexagonales %4 -20 x %, (8) arandelas 'z x 5/8, y (4) tuercas nylock ¥ - 20.

Coloque las mitades unidas en el soporte central, alinear los agujeros de montaje de visera con los agujeros del soporte
central de montaje, coloque en el soporte central usando (6) tornillos Phillips pulidos de maquina de ¥ - 20 x %, arandelas
Ya x 5/8, 4 - 20 tuercas nylock.

Alinear los agujeros de montaje fuera de borda de la visera con los puntos de montaje existentes en a extension lateral de
visera, re-use los accesorios OEM para colocar la visera a a extension lateral de visera. Quite el film de todos los agujeros
de montaje. No apriete todos los accesorios adn.

Apriete todos los accesorios, empezando en el soporte centraly hacia afuera. Apriete de ultimo el soporte central al techo.
Quite el film a ambos lados de la visera. Ensamble todas las luces en la visera (usando tornillos 8-32, arandelas y tuercas
nylock). No instale accesorios en el agujero de montaje de luz fuera de borda. Quite ambos lados de las cubiertas de arnés
de cable (PNL30731109C); coloque moldura de borde a lo largo de los bordes largos de las cubiertas de arnés de alambre.
Conecte los arnéses de luces, quite los clips del arnés OEM dejando aproximadamente 18" de cable, conecte al arnés
provisto usando (2) conectores azules de empalme rapido.

Coloque los arnéses en las cubiertas de arnés (PNL30731109C); coloque las cubiertas de arnés de visera al soporte central
usando (2) por lado de tornillos de maquina Phillips pulidos de #10 - 32 x ¥, , coloque la pestafia de montaje fuera de

borda a la visera usando accesorios de montaje de luces pasando por el agujero de la luz fuera de borda.

Page 5 of 6 00812838 08/2005



pDIETEﬂ{S‘ \M

Our Reputation Is Stainless!

Bridas a bordo de visera

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com
IATF16949 & 1ISO14001 REGISTERED SYSTEMS

PNL30731109

Agujeros de
montaje visera

PNL30731109P

e Vi = -~
/ ,-’.J; {1
Luz fuera borda, agujero LYt S
de montaje
PNL30731109C

PNL30731109C

Ensamble de soporte
central de techo
elevado

00812528-espaciadores hule

T
il
h

\

\
o
|

I
I

00812528-espaciadores hule

Page 6 of 6 00812838

Pestana de montaje afuera

08/2005



